
How to Make a Helicopter Part D 


(Design Analysis)





Prisms





       = line of symmetry





1.7cm x 1.5cm ( 2


isosceles triangle A





7.6cm x 0.6cm rectangle B





7.6cm x 1.3cm


rectangle A











7.6cm x 1.3cm


rectangle A





7.6cm x 0.6cm rectangle B





1.3cm x 0.6cm


rectangle C





1.3cm x 0.6cm


rectangle C





* All angles are 90o and the dimensions are based on the formula for a square or a rectangle,	    a = l x w. *





* All face dimensions are 1.3cm x 1.3cm and are all squares (A)*





1.5cm x 1.3cm ( 2


equilateral triangle B





1.7cm x 1.5cm ( 2


isosceles triangle A





1.7cm x 1.5cm ( 2


isosceles triangle A











Pyramids





* The dimensions are based on the formula for a triangle,	    a = l x w ( 2. *





2.5cm x 1.3cm ( 2


isosceles triangle A





Faces: six


Edges: twelve


Vertices: eight





2.5cm x 1.3cm ( 2


isosceles triangle A





2.5cm x 1.3cm ( 2


isosceles triangle A





1.3cm x 1.3cm


square B





2.5cm x 1.3cm ( 2


isosceles triangle A





Faces: six


Edges: twelve


Vertices: eight





Faces: four


Edges: six


Vertices: four





Faces: five


Edges: eight


Vertices: five








